HRG;-w

¥5 % it 1E 1l

PEhEE e

PRODUCT SELECTION
OF HOLLOW ROTATING
PLATFORM

hETRER T A

P> WWW.WXHYT.CN



} R ERICE i
B HRGE5I-3 LR IR W i Ra =
— BMISSHERTAR—HEFNERRALE  CRSEHAE. BHE. BUK. BHELF—  JiF
m= Mg | FEER SHEELY, 5, BATARDE. AR ABRERDEOES.
(mm) | (mm) B EAEEEELENNEREE , BETAENAYE ASERE , BEARDARSHDATY 35
ARBENE , BAEH ABEETANMSESY , BUMELTAEERDE , TEENARNIH
e B O R AL 2
HRG60-05k 60 28 5 ‘ﬁ
— KL (REHTE) —17-|S1‘)1§2% TERS TEIRLE
HRG85-05k .
HRGS5A  HRGS5 HA060 5,7,10
HRG85-10k 85 33 10
HRG110A HRG110  HAO60 5,7,10
HRG85-18k 18
HRG130A HRG130  HA060 5,7,10
) 5
HRG110-05k 110 35
HRG170A HRG170  HAO090 3,5,7,10
HRG110-10k 10
HRG200A HRG200  HA090 3,5,7,10
HRG130-06k -
HRG280A HRG280  HA115 3,5,7,10
HRG130-10k 130 62 10

HRG130-18k 18 _17-'-(“1(':':' +E%) _17-'-(1=ﬂ.§:.? ':P g!% -

HRG60Z HRG60 HAS042

HRG170-10k 10
170 72 HRG85Z HRG85 HAS060 2,3
HRG170-18k 18
HRG130Z HRG130 HAS060 2,3
. 10
HRGO010k HRG170Z HRG170 HAS090 2,3,5
200 100
HRG200-18k 18 HRG200Z HRG200 HAS090 2,3,5
HRG280-10k 280 150 10 HRG280Z HRG280 HAS120 2,3,5
“ErFmAE S HYE, FRRSETIL, #OARMIEKKAKERARAGHIA

SRR ERRIFRAE 44 P> WWW.WXHYT.CN




D thesErt T ARG

B SVERRIKEN

¢ i BE Eﬁ $ [ | 1]- 1t Eq Order Code for Hollow Rotary Platform

O - &4 &F HI B

25 | g HEE, | DR%R |DRBSRB|EBRERD o
60 -05K -SV
85 -05K 10K 18K -SV - -
110 -05K 10K SV - - tERCE 5 f\ﬂfﬁzﬁﬁﬁlﬁ
HRG 130 - T : -
E v - - - 281
- T = - - &R a%&“ﬁ =3
-18K -SV s -
200 -18K -08/-C8 = =
280 -10K -SV

RS E

@%M DEXE [BEES RS EHEERE
FEEETFE PLCENEZEHARZ* AFEY
HRGZ5 60 : 60mm 05K : 1:5 = OS}FET\iEﬁ -
85 : 85mm 10K : 1:10 A gng]ggl/—\
110 : 110mm 18K : 1:18 BRERL 114
130 : 130mm CRRIERBENHLIE
170 :170mm D:fERBRLERREIE
200 : 200mm N . EEEH'
280 : 280mm §E:C%S|ﬂﬂ;$]£ o BEAEREEH
BBALH Lt cEE
CSITEmRE CRALRBEHLE “
X Faxkx1a D: RN BLRELRIE
CS:AMLit AALHBAx1H E: AR 415 (2.5M)
3% o) 28 s L 8 5k x 4 MBBPRLELIR(2.5M)
REELx 24 omHg RPEn S
= . =y L SV {a iR 3K 51
G =8:%
OS:F¥F# rEAMXIT B: @FHH#
FHREHEDEX1E C: Jﬁm{éﬁﬁéﬁﬁﬁlﬁ
sV-EARDE ERE: E R Dk | | DM HREXRIE sees rran i
’ FaArkxlE BESEDRBESKBYN~ R ‘
ORISR DIAE S 85/110/130 Mt T R DX B S 170/2004H& AT EL DIA RS

TR N E R E.
F:21+GYS500/101
M:=%HF-KFS-13

P:#A RMSMD-5AZ/01G
S:=7#¥Q1AA04010D
Y:Z)Il| SGMAH-01
0:Zx5DX010

T:&1X ECMA-C30401

2. HE (mrrspnne Rt e gmg)

TR N E KR,
F:®1+GYS201D5
M:=%HF-KFS-23/43
P:#A T "MSMD-022/042
Sk :‘$Q1AA06020D

13 .‘:." JKECMA-C30602/04

2 HE mrrspenesREasceE®)

BRBBHEIL : HRG60-05K-SV-F/GYS500
ITE5CHEBHI2 : HRG85-18K-0OS-ABC
FEREEFLETREZPREBEN AT KITHSHRAE.

SRR PR IFRAE 44

= H R R E R .
F:E+GYS751D5
M:=ZHF-KFS-73

P:#A FMSMD082G1U
S:=3*¥Q1A07075D

Y:%&2)Il SGMAH-08A
OZR 5 DX475
T:8IXECMA-C30807

Z BT (mrrfRene RiEEREEE)

B RIRIE

SEHMO%-AREY

FEE5DEZAFRER
B EKEBITERIE R
HARERHTERIEA

ARIX*AFREW FRIEFNF* A B W

EWEH - L EEBRENHSE  BRTRBRITE

10 % 15 B W 3T

»» WWW.WXHYT.CN




O,

REhER e RENA

Installation Instructions for KMI Hollow Rotary Table

Eﬁﬁ%iﬂ Eﬁ Motor Installation Instructions

BEBINDASTARENRE, HERKRERY.
First confirm whether the motor and the platform match,
And remove foreign objects on the surface.

FEEAZ LR TIRIRS], HEohm NG
BB, EERBEINERFNRE RS,
Remove the flat-end screws on the over flange,

turn the input to adjust the position,
Until you can see the fastening bolts of the locking ring.

RBEAM S RENRANGNEUE, BN
EAA, 3 ATREZRE

pre-tighten the connecting bolts diagonally

(do not fully tighten)

AANRFN AR ZERITANSR T AHAR
Use a torque wrench to tighten the fastening screws
diagonally, torque refer to the table below

IER YRR EERE, HNSRTHRN,

Tighten the tightening bolts of the locking ring,
torque refer to the table below

R TIRIRET,

Tighten the flat-end screws.

ﬁiﬂﬂﬁ?%ﬁii Installation of the shaft sleeve

BEMRET Fastening screws

FEKEO — TR0 —
Locking ring notch Platform in put

shaft notch

SN

KEF The clamping clamp

N

)kw E_IIJ?SEHJ Motor shaft
V Eﬂiﬁ(ﬁﬁﬁﬁ:) Shaft sleeve (optional)

& % N5 Platform input shaft

MFDEEmEE/ N, RS FamANMALLEN, EMEMEH#ITHR ELLMHEREO.
EFEONT SN ONTT UERAREN S E R R E R,

If the diameter of the motor shaft is too small to match the input shaft hole of the platform,a bushing needs to be added for adjustment.

The slot of the bushing, the slot of the locking ring and the slot of the input end of the platform should be aligned to maximize Tighten

the fastening screws of the locking ring.

HAOIRFEEHA DT (12.94%)

Torque wrench tightening torque table (12.9T)

BETAIS | M3 M4 M5 M6 V] M10 M12 M16
Screw model
Ly N.M N.M N.M N.M N.M N.M N.M N.M
PIEHA
ks | 215 4.95 9.7 165 40 81 140 220
YEER(E | kefcm kgf.cm kgf.cm kgf.cm kgf.cm kgf.cm kgf.cm kgf.cm
Momentvalue [T 50 99 168 408 826 1428 2243

SRMIEFFRRBEMIRE 44

P R E A EMER

W R/ RS ERE (W)

B pE R B ME R B IMRENSOELU T AR,

B I EINEERT)SELUTAR

InEEEFETa[N-m]=(Im+Ja+Iw)*11/30*(N2-N1)/ta

Jv : xR Elkg-m?]
In : MAE%EENIREkg-m?]
Ju : SREFEEMERkg'm?]
N: : THEELIR[r/min]
N: : [BEhE&IERr/min]
to 1 NIERGRGER) A TE)[S]

Wit EATREE

PR R T B R 5 e A AR S e R E S IR BRI ASRA R £ 2 EU BEH.

[V —

t t2 Time

R EEHET = (LB EAEIN. ] + DEEREARIN. m]) x R T8 = (To+ To) xS

RERHSATLS,

B EE SRR AR TR T 46 - R AR EE 2

T DA I L

2500

285 EIA

0.14

012 \\

E 009 AN

2 A

g 0.06

0.03

0 500 1000 1500 2000

I ([r/min]
S57TEHEIR

25

— |

20

E 15 =

2 N

o0

¥

05

0 500 1000 1500 2000

&I ([r/min]

W RS R ERERTT R

FEPIE A LIRS R R B R ER T ARG @ AWM R E N E R TL T

_Lm

MEEEAN
Fi (N)

m, (kg)

F. (N}

L(m)

2500

i immtaEkIN] : Fe=Fi+maxg
B sEmRAEIN.m] : M=Fx(L+A)
g : EJINEE9.807[m/s?]

T ] imAEREIN] : F=F+mxg

1REAFEGIFIN.m] : M=FxL
‘ g : EHNNMNEE9.807[m/s?]

FIN)

A2LHEK
0.75
0.60 ]
— ~N
€ 045 =
Z,
0.30
ﬁ AN
0.15
0 500 1000 1500 2000 2500
&5 ([r/min]
865 LA
5.0
—
4.0 ~—
N
E 30
P4
= N
oo
® \
10
0 500 1000 1500 2000 2500
BB (r/min]

| HRG60-05K 0.010
m, (kg) HRG85-05K 0.015
Hﬁ]‘ﬁjﬂ ' HRG130-10K 0.017
ez 2 HRG130-18K 0.017
B HRG200-10K 0.033
HRG200-18K 0.033

— HRG280-10K

> WWW.WXHYT.CN

sz

op - & & HE B




REREE RS

m HRG60-05K === HRG85-05K I:l:l
=
2
g 2-2 5 HTo ’X 6.5EQS $§
= B 78 85 P.D.C262.5
| 558 70
2 | 4-2 6.5 Thru,EQS 1Y 2
e_ J H 2-2 5 H70 " Thru | * :F
°\S‘ 2 6-M4X8.5 EQS / s \ n
¢ P.C.D262.5 4 \)
s s N \
T - AIL SIH
\\7/ 3
AN B NS
. N a
g ' ]
P w
g 3 o Lok | e
; oEq 3%4; # ; 2-M2.5X4 Rotating Part
« 3= o : : I—
n & g L7 4-M&12EQY/ =
e
747 14 2-M2.5X4
2 14 2-M2.5X4 327 o |
e ! 32 | . | 11 - i /
[ | " é o ® |
| I 0.5 — I/
' 3 n |
o 1 2 .
§ |\' ! I So| o ~
1 =3 o o - gl
| i : — v e 1
’s I N B | = N3
; ! —1E] | L) £ s T |
| ] — [} - |
| 1
| L LI p | 2|z — |
l : ® Q‘ 1 rrnr |
; L I B |
|
228 I - - S |
@ 40 H6 "¢ | 6.7 |
50h6 9016 i 34.7
&)
ﬁ EE % ?& Performance parameter ﬁ Eg % ;& Performance parameter
SN 25 7 BVFH 3 - = SN 2 i i - =
ﬁéﬁpfl’:llat%% Cmsf;%ffiiﬁﬁ Permissible Output 200rpm ﬁépﬁ it Arﬁf\ ﬁ%pﬂfl"?a%r% xR ?’E?Eﬂ}j? permassfz ?jﬁﬁ 200rpm 2{%7‘3‘ it & 2,
Support oller Bearing Speed Mounting Position Ty Support Crossed Roller Bearing - Mounting Position Arbitrary
BHAR |0 (EEAERE) | EUHE < 0arcsec iy i BETR | 360" (FERABENER) JELRE <Soatcset ol (ki
Shift Motion 360" (Rotation at any Angle) ‘ositioning Accuracy Tcanon, Synthetic Grease Shift Motion 360° (Rotation at any Angle) Positioning Accuracy Lubrication Synthetic Grease
~ o - o
ERRIRT) | 100w sl TR * Sarcsec Lk -10C~90C e e s B *Sarcsec sl -10C~90C
Motor (Size) Stepping Motor Peitionirig Avcitacy Temperature Motor (Sze) (@14-050-070-M4) Dot A sty Temperature
Wkt (8-30-45-M3) R SR 250N (e 20000h W 5 FEFHl A S 550N (e % 20000h
Reduction Ratio 1:5 Allowable Axial Load Service Life Reduction Ratio Allowable Axial Load Service Life
BRI 1 Ek P P 2
HUE i 4115 5Nm Allowable Jk:ad;aji)ad 500N w%igi{ P> ALE A i LA 18Nm Alﬁ:zl:: Jk:aleifi ) %#‘%ﬁ- tPes
Rated Output Torque foduction Rated Output Torque % Level of Production
Py RY P27t e s
B HNEH TrEGHEFATE =20 FANEH 5 TEREFATE e
M Accleraion 9Nm Parallelism of Output 0.02mm Level of Noise <63dB i ki 32.4Nm Parallelism of Output 0.02mm Level ENoise <63dB
orque Platform Torgae Platform
SUsH TAER T BkEh 2 TAERIRTE S
Emer_lgency Stop 15Nm l;tlxnt?ut of Oi;tput 0.01mm ﬁiﬁsﬁ: 54Nm Run:u't of OutpEi zjj 0.0lmm
‘orque atform Surface j=. Torque Platform Sarface =
. o TAEESNEBS 325 HRG60-05 TAERSNEB 25 HRG85-05
Exsiliins 735x10 “kg.m Runout of Output 0.0lmm ) 1203x10 *kg.nf Runout of Output 0.0lmm
Rotational Inertia Platform Excircle Rotational Inertia Platform Excircle

SRR ZARIRE 44 > WWW.WXHYT.CN




RERE RS

me HRG85-10K = HRG85-18K (EIE57H i) |:|:|
=
+0.12 78 E#
2-85H70  X65EQS
85 P.D.C® 62.5 22 517" Thru 103
70 35 25
30 4- @ 6.5 Thru,EQS Q J 85 i 1Y 12
£y : 29 35 :F
= . N
6-M4 X 8.5 EQS s < n
P.C.D® 62.5 G \ B | Y S N P - A n
\ .
/ / g]- Je g a -
= g s
3
‘\ == / 8 © © 2
0 \ 7/ =
0
A f=3 s L
» \ 2 \ ! - LN
& ™N . \ P.C.D@ 70 ”
N BEREERAL O, O, =
1 i
I 2-M2.5X4 Rotannig part 2 -0 5 2004 6 EQS
1 3 / L - 0
' Sl 2 2-05 " {HT)THR / \4-26.5 THRU
@ P.C.DZ 62.5+0.1
6-M4 X8 E
D70 %.03
2 50 = E033
214
b [--]
~
14 2-M2.5X4 | | er N )
£ ' | IRIE! 0 ¢
S ) =

11
7+

15T
+—1—1
(60)

2 33 O, ® 0
w —
. © =
o
8 52/55H6 0 S
Il
@ 70 h6 ~Oo.019 @ @ a)
ﬁ ﬁ'é % §5{ Performance parameter
Hath V5% 1% ESE SE T Arrthitien SN =R
Output Platform i Permissible Output 200rpm e Abi
Support Crossed Roller Bearing P Mounting Position rbitrary
Bafrl | 360" (FERLFIENERS) SELLA L <30arcsec Ll BRI
Shift Motion 360" (Rotation at any Angle) Positioning Accuracy Lubrication Synthetic Grease ﬁ AE a g& S
UCRE B bLOR~F) | 400W AR HLHL ServoMotor, EE SN s ﬁ@iﬁ%iﬂ i3 o BE & erformance parameter
Matchi v rating -10C~
Mo:cfr Eg;sze) (B14-050-970-M4) Positi«}neilr’negu.:czuracy Temperature
S Y ; _ o
Yk b 10 BV 500N A 20000h ﬁé&fﬁ%ﬁ % Xdyff:fmﬁ L%y 3arcmin - iﬁ%ﬁﬂ%ﬁ 3 10 arcsec
Reduction Ratio Allowabluasid Tead Service Life Support rossed Roller Bearing Transmission accuracy ositioning Accuracy Repetitive
i i e P B DN ; i =
T LN BRI ] B P6s .3 18 = 0.01mm e 3 B B o
Rated Output Torq Allowable Radial Load Level of Production eduction Ratio Flatness of rotating platform Rotating platform output, circular runout
ue
i —
Bk TS 5 20 LAEGE FATE - W L G o 32Nm BRI 18 500N A7 20000k
Max Acceleration e Paralleism of Output Ramm Level of Noise = Allowable Torque Maximum axial load Average life
rque Platform
BEHE 42Nm TGS BkEh 6 A E i H 200rpm GL: Garcsee W <65dB
Emergency Stop Runout of Output -0lmm = Rated speed Dorsal gap ke
Torque Platform Surface g: =.H RG85-10
TAERSMABEEH
Eeaziliin s 1203x10°° kg.n?’ Runout of Output 0.0lmm 1] = . @
Rotational Inertia Pltform Excicle g: = HRG85-18

S RIIERI R PR AIRE 44 »r WWW.WXHYT.CN




REREE RS

=== HRG110-05/10K

144

138.75

n
f
9 2
=
% <
¥ oD
ANV
2.5 Bo.mz H7 /
P.C.D® 80+0.1 / 244/
2-25 1002 (H7) | Y6 35
@ 95|
@59
2 395
]
of "
) !
o | ' Rl
f
| o
] o~
| el
] w0
o0
| o
N
T
L
T
% 1468:% 832 ©
@ 50D74 3392
ﬁ lﬁ'é % ?& Performance parameter
5@%!?;; ﬁa%}% P SRS IR 3arcmin EEENAEE 10 arcsec
Support Crossed Roller Bearing Transmission accuracy Positioning Accuracy Repetitive
S £ S 5 i
Wt 5/10 TR P 0.01mm HEB T 22 HUSH SN B ot
Reduction Ratio Flatness of rotating platform Rotating platform output, circular ranout .
B 25Nm PN 1biE 1000N P 20000h
Allowable Torque Maximum axial load Averagelife
HE i 200rpm L Vsateses W <65dB
Rated speed Dorsal gap i
1= .
8= :HRG110-05/10

S RIIERI 2P R RE 44

=== HRG130-06K

130 81.5
6-M5 X 8 EQS, 110 39.5
P.C.D @ 104 30 | 4-@ 9 Thru, EQS =
T 14.5
5 P
° —
7, 0\ 0.5 -
/ \ 3
/ \ =
— — ¢ s s |3
— — | Fole?
/ = —-t YE|:
/ n S ;
®
2 \0 ,/ -
=l " C—
S=74 T
[ gl = B
: e ol s H-F
@ 5+00.014 X7 EQS | Rotating Part ||
P.CD @ 104 | =—— — - —
14 6.7
2-M2.5X4
60 347
120
I "
| 2-@ 5H7Y Thru
O J 14 2-M2.5X4
© [ ]
L ] I
°
© i ® |
! |
%) © | O) *
= |
|
|
O, O,
U
O ©) |
2 O |
\ ) |
270 ® , ® 1
4-MAX 10 Y
ﬁ lﬁﬁ % ﬁ& Performance parameter
kP 6 3SR THIR FPLT N eI 2
Output Platform I . Permissible Output 200rpm X . 3
Support rossed Roller Bearing | Mounting Position Atbitrary
BafE 360° (LEREFA EENERE) SENIKERE < 30arcsec T A B A
Shift Motion 360" (Rotation at any Angle) Positioning Accuracy Lubrication Synthetic Grease
EEEEE*IL(R#) 400WAAIAIR HEAL ServoMotor| Eﬁfﬁﬁﬁg FEarcsec ﬁfg%:‘%ﬂg 10C~50C
: s peratin - ]
Motor () (914-50-970-M4) A Temperature
> 3, s
pid=a 1: 6 [1: 10 [1: 18 AVPHh IR 13 B e 20000h
Reduction Ratio Allowable Axial Load Service Life
HrEk e | 43Nm |34Nm [ 25Nm BRI 5, ) 5 s 2 P65
Reted Outpit Torqae Allowable Radial Load Level of Production
P2 S 4
B KN GHEH A Nm | 61.2Nml 45N TAEGHE AT W (E
Max Acceleration /74N | 51:2Nm)45Nm Parallelism of Output 0.02mm ool <63dB
Torque Platform
- P =
e 129Nm | 102Nm | 75Nm Iifﬂ”{%ﬁ?{m 0.01mm -
Torque Platform Surfsce ﬂ-q *‘HRG130-06
B TAERSMABEH
i 2772x10 *kg.nt Runout of Output 0.01mm
Rotational Inertia Platform Excircle

»» WWW.WXHYT.CN

s\ 7

o> - & &F HI B

O

Y




REREE RS

m== HRG130-10K m== HRG130-18K q:
b= ud
6-M5X 8 EQS,
P.CD @ 104 4- @ 9 Thru, EQS Eg
JEf A-@0 hm, SR i
@) . 2-@ 5H7%°" Thru
159.8 ¥
< T 18.8
- ;
© i © St A
L o g 1 & =
7w I e e O34 E 250
) ' 9 - - AN Eo14
@ O) ! (O, - m =
! NS 5 ary \3
< O | e s ? S @i
/\TIT\ 2-M2.5 ¥4 * g 2 /
1
2-250M X7EQS i 2 70 o @ ©
P.CD® 104 0 \ \2:M2.5x4 © ~-f—-
20 2-M2.5X4 _— T SMAEXA \ MS
0 4-M4 X 10, 55 2- 5 9912 7 EQS AN P.C.D270+0.1
$ N/ $
\
2es9imry” /[ AeTHED s
P.C.D 2 104+0.
6-M5 X 8 Ef
2 50
% 14
64.8 .
i uy 0
1 T — , z 2 114503
4 - ®
K ] 14 I-M2.5%4 e ERZs 62 2
> | o | I A
i 11 = - ﬂ.
| = LI &
' = 1 [ [ 1] 0 [ [l ] g o e
— | o R | INIER — T
T 1l I'_'JI IL_‘ J__ i e | I I
" | E
[ N T q
o | 262 B 0
2 92 H5( 0"
) 2114 9
ﬁ ﬁg % g& Performance parameter ﬁ lé'é % ;& Performance parameter
e 22 N . ) ¥
IR SR TR VR R e 5t R P A R THE VR R AR I3
Output Platform IS ARS]erBeat Permissible Output 250rpm s . Aehits Output Platform IS 4 Roll " Permissible Output 200rpm . i Arbit
Support rossed Roller Bearing Speed Mounting Position ary Support rossed Roller Bearing Speed Mounting Position rbitrary
BT | 3607 (ERAENER) EALAEE <30arcsec e & BT | 60" (fERAEENER) FEAIRBE a0t ok B
Shift Motion 360" (Rotation at any Angle) Positioning Accuracy Lubrication Synthetic Grease Shift Motion 360" (Rotation at any Angle) Positioning Accuracy Lubrication Synthetic Grease
@EEE_W Rty | 400w AR Bl ServoMotor Eﬁkiﬁﬁg + Sarcsec {%@Pﬁﬁgﬁg J—— EEEEW Rty | 400w AfR #iHl ServoMotor, E%iﬁféﬁ +5arcsec {ﬁfg Pﬁﬁgﬁﬁ 10C~50C
at 11 itive itive
i (P14-P50-B70-M4) T L Temperature Motor (Size) (B14-P50-070-M4) Pesitioniog Axgisicy Temperature
. S & . N A
WL 156 [1:10 |10 18 AEVEHITE 1 ] BE% 20000h WL 156 |1z 10 |10 18 VR R 18Nm A 20000h
Reduction Ratio Allowable Axial Load Service Life Reduction Ratio Allowable Axial Load Service Life
BoEkitig | 43Nm |34Nm |25Nm VPRI S - LR P65 Wt | 9Nm [34Nm |25Nm VP EIR 51 ) %o 1P65
Reted Outpiit Tore Allowable Radial Load Level of Production Rated Output Torque Allowable Radial Load Level of Production
iy S 4 L 7 4=
B 56 N |61.28m| asnm | THEEEFATE Wl B S TAEGHE AT W
Max Acceleration e L & Parallelism of Output 0.02mm Level of Noise =63dB Max Acceleration 774Nm | 61.2Nm{ 45Nm Parallelism of Output 0.02mm Level of Noise <63dB
Platform Torque Platform
2y L Wk 5= . L Wk 7=
f?ﬁsﬁ, 129Nm [102Nm | 75Nm Ii’E ntiﬁjﬁsﬁﬁ)ttzm 0.01mm Eﬁ[{;fﬂfﬁ 120Nm |102Nm | 75Nm Il’ﬁ ntifﬁgﬂm 0.00mm
T nout of utpuf enC; O]
. RO RE2:HRG130-10 o s e RS :HRG130-18
] T SHEB TG sNEBE @
R 2772x10 " kg.nt Ninont of Ol 0.0lmm R 2772x10 " kg.nt R ancr i Bt 0.0lmm
Rotational Inertia Platform Excircle Rotational Inertia Platform Excircle

SRR R RIIRAE 44 »r WWW.WXHYT.CN




REREE RS

=== HRG170-10K == HRG170-18K

145 170
145

2- @ 835 X8 EQS|
P.C.D 2120 4- @ 11Thru, EQS

6-M6X 10 EQS

2-@6H7 o 8
— PCD 2120

215.56 S 7

170
4- @ 11 THRU 145

op o & & HE B

@ 219

ZixMFe 70

120

215.56
0
"o

86.5

90
170
145

o = L
; . § . - i | ==
Sy PE Rotating Part 5 g |
4M6XI6EQS/ L PCD 290 N / - A o~
; 4 - I 4
P.C.D @ 105 . ~ - 2-M2.5 X4 QV | W,
T

Fan $ 288 000 X3
N 120

2 120+0.1 / 84
6-M6X10

O 8-M6X16BQS
o ;e st

P.CD®@ 90F0.1
P.CD®@105%0.1

5 B 14 2-M2.5X 4
_ln 7

0
2 140 -0.03
| ]
" TEHEe 72
o % <2 i ~ 1
N '; g _E L [l L
S| = T 17 T
sl ® | é | P 4 | ©
y f ]
5 — | T
— | ! 1 3
| |
ol
P o) O | ' BE
| | — ~
6 =
| ! 2-M2.5%R4 / ! .
75 | |
47.5 | i
| |
ﬁ ﬁ'é % ;& Performance parameter
85.56
I .
W T A S XTI B LR ZHITR 33
Output Platform I . Permissible Output 200rpm . * .
Support rossed Roller Bearing Speed Mounting Position Arbitrary
BR[| 360" (FERAEIE) SRR <30arcsec el B i
Shift Motion 360" (Rotation at any Angle) Positioning Accuracy Lubrication Synthetic Grease ﬁ AE 2 ;&
g Performance parameter
DCHE AR T) 400WAAIAIR HEHL ServoMotor| EE%M%E =+ 5arcsec @%ﬁ %%ﬁg 101C ~90C A = idabdehil
: 2 ratin - ~
Moor (3e) (215-070-B50-Mo) oy iy Temperatine
L =L 3R T A& i i EE ENHEE
5 . . P t fE Output Plaf, ! ey iz 3arcmin : 10 arcsec
Reﬁ%i’iﬁo 1: 10 1: 18 Aﬁvﬁlﬁ )z] L{)\ji - Service Life 20000h Y g:ppoaﬂ RER Crossed Roller Bearing Transmission accuracy Positioning Accuracy Repetitive
; AT e T Gt 3 S B 3h
BRI " W 18 0.0lmm =KL
BUE Sy L 55Nm 45Nm Af‘z{;"ij}; fﬁ - B3 %Jﬁ_ P65 Reduction Ratio Flatness of rotating platform Rotating platform output, circular runout 0.01mm
Rited G Tarie wable Ra Level of Production
5 THEAEFAT = AV AR 45Nm B I 3000N Py 20000h
?ﬁi‘fﬂfﬁ 9N AN Para“elisPr; ;f Output 0.02mm L:ii zfm <63dB Alloswable Torque Maximum axial load Average lfe
orque form
. = ;-\-ﬁ ¥ b <
RFHE 165Nm 135Nm TAEGIRE B3I O ATE S H 200rpm Do'iﬁp 1 5aFEREE uigg 65dB
Emergency Stop Runout of Output . u =1 . Rated speed Ll
SR A2 -HRG170-10
TAERSMABEEH
B iR 27619x10 * kg.nt Ruout of Output 0.0lmm =
ey S HRG170-18

S RIIERI 2P R ARE 44

»r WWW.WXHYT.CN




RERE RS

mes HRG200-10K === HRG200-18K q:
=
180
+0.014
, 4%
+0.014 170 — +0.012
2-@8 0 X8EQS 6-M6 10 i 2-@ 6H7 Th
200 i g 0 u
P.C.D®@ 155 40,012 P.D.C@155 30 A 4- @ 11Thru,EQS O | — 1Y 12
6-M6X 10 170 /M — — 1 ] % q:
P.CD®@ 155 e - 4-@ 11 Thru,EQS © PAN
— }’i rEQ ° 2N :
(& o 7, \\\ o =
- - LGl D~
() 7/ \G\ g ,/ Nl \
/ N E =
/ ! \ ) g
' b \ )
A 3 -
I (- 'R :
\ - / 9 ®
\ | ’ N )
g \ / TR
VA 04 o i 2-M2.5X 4 Rotating Part =
) —C Ay \ = T O
0 ~ \g . . o P.C.D@ 90 %0 P.C.D®@ 90
~U s | R : PCDo P.C.D® 105
1 Rotating Part - e Al 105
] 2-M2.5X4 1
T — 4-M6X 16 BQS L2 4-M6 X 16 EQS S TR 4-M6X 16 EQS
%0 270
2 1
2 70 98.5
2 1
5 100 1T
l 14, 2-M2.5X4 a bl | 14 2-M2.5X 4
} TN e
. | S z '
= M - B
S 2 re . : )i
; = = o
) \ |
[ , & & 0 | _l | 8 =
]
[ | ]
L [ 2 ! ! 8
' [l 5] * | ’
| n
! ! @ 100 w |
2 100 | |
] +0.012
2 140H4 0" o) ! 2 140 He b 0 ]
0 I
2 170 -%.013 : 2 170-0.013 |
|
da|
ﬁ 'ﬁ'é % ﬁ& Performance parameter ﬁ HE % ;& Performance parameter
VA N I : o T £ S E X BV R : B
$%':-E}Put li’?at%r% XEYE?E&VR Permissible Output 200rpm TR EE‘ Output l"?atform XX?E%WE( Permissible Output 200rpm fé_%ﬁ A &E‘
Support Crossed Roller Bearing Soccd Mounting Position Arbitrary Support Crossed Roller Bearing Speed Mounting Position Arbitrary
BHTE | 360° (RIS ERTRE <30arcsec e AR R BHTE | 360" (ERMAEIH) ERLREE <30arcsec el & B i
Shift Motion 360" (Rotation at any Angle) Positioning Accuracy Lubrication Synthetic Grease Shift Motion 360" (Rotation at any Angle) Positioning Accuracy Lubrication Synthetic Grease
EEEE-W R~t) | 40owfd i Ha#l ServoMotor| E’E%ﬁﬁﬁ + 5arcsec @ﬁiﬁ?ﬁ’g 10C~90C JEEEE;?L( Rty | 400wl Bl ServoMotor| Eﬁk %ﬁﬁ% B + Sarcsec Vi )2)3 Pﬁﬁgﬂ 3 s
Motor (Sie) (@14-950-970-M4) Positioniog Avearacy Temperatce Motor (Size) (919-070-B90-Ms) Poiitionng Acpiricy Temperature
Wk H 10 BEVFRIR 18, - B 20000k WL 18 BRI 18, - % 20000
Reduction Ratio Allowable Axial Load Service Life Reduction Ratio Allowable Axial Load Service Life
Unelirys IRMIA
HE I L 112Nm VLRI S - B P65 HE L 158 85Nm PRI S8 - B 71258 1P65
et Ot st o Allowable Radial Load Level of Production Rated Output Torque AllowsBle Radid Load Level of Production
= P
B TR AT = BRI TEGETATE W (i
S Rodiorets 201.6Nm Parallelism of Outpat 0.02mm k"if f'moise <63dB Max Acceleration 153Nm Perallelism of Output 0.02mm A e <63dB
‘orque Platform Torque Platform
(25 L Wk = (B L Je=
o A2 :HRG200-10 e IS :HRG200-18
TAERIMNABEE _ gy TAEASMEBEEh
%ﬁ]‘lﬁ% 27619){105 kgﬂe Rum:l't of Qutput zj] 0.0lmm %m‘lﬁﬁ 27619x10 6kg~ﬁ1 Runout of Output 0.0lmm
Rotational Inertia Platform Excircle Rotational Inertia Platform Excircle

SRMIEFFRRAEMIRE 44
»» WWW.WXHYT.CN




hESiEt S PSR ESITE—I

wes HRG85A

=== HRG280-10K

78

2- @ SHA"? Thru 6-M4X85EQS [

2-29%10 150 517
P.C.D.335
P.C.D.335_|
65.8 s "
— 16.3 4-M8X 16 . O /@/
1.8 p.c.D14s ¥ %

58

op - & & HE B

2270
2 260
218
2 185
2 80
2110
1142

y any
4

©
©

8-2 17.5 THRU PCD 270

P.C.D.296 ) 2- @5H7*%°"? X 10 EQS
0 /
20-M6X 18 EQS 4-M4X9, EQ S~ T / P.C.D @625 —l—l
. 60
4-26.5Thru, EQS

NZM25X 4

213 137.5
129.5
O 32.7
T 5 R 10.7.
=
T ( l£
- B 2| =f -
T &‘
20.3 I O —
7 _||31| 37| e9s
4
4.5
322
ﬁ lﬁﬁ % ;& Performance parameter
T S L 5, 2y N _—
%ﬁfﬁ%ﬁ R T AR S 54Nm ZFH A S 500N W {E_ <63dB
Support Crossed Roller Bearing Emergency Stop Torque Allowable Axial Load Level of Noise
BT 360" (ERAENERE) | AVFRHBEE | s00pm | AFFEIISE - SO e R
Shift Motion 360" (Rotation atany Angle) | Permissible OutputSpeed Allowable Radial Load Mounting Position Arbitrary
BE i RERLKEE < SE LA T A I 1 e
ﬁ BE % ;& Performance parameter R edﬁ%j%do 25 35 50 PotonITg A Lf;cy < 30arcsec K M%j]fﬂagj;g&% 0.02mm R Symbeiis e
a o TAE R H B3
@ﬁﬂ‘:ﬁ H Tﬂ;@ 18Nm EET\E{J%E =+ 5arcsec H 0.0lmm ﬁfﬁ %iﬁﬁ@f . B
£ v s . o de = Runout of Output - _ "
ﬁﬁ?pﬁl"i%’% X 3’5?%73 1‘?1’57%3 3arcmin ) iﬁ%ﬁiﬁ E ‘ 15 arcsec Rated Output Torque bostio b caracy Plttorm Surfave. Operating Temperature 10C~90C
Support Crossed Roller Bearing Transmission accuracy Positioning Accuracy Repetitive 5 j( i j’ﬂ ia Iﬁ; i M\BEijJ @?F%g& @ﬁ%/&
. . § i 2 = AF A
WL 10 HEReT & VL 0.01mm Rt S L B ool Mk eadlesiton g 32.4Nm RuneutcfOupu | 0.01mm ontoireimon | T Rl 20000h
Reduction Ratio Flatness of rotating platform Rotating platform output, circular runout Himm P——
i 6 2 UEAERALOT) * * @70*
b o . 1203 X 10 “kg. = : = @14 T32.2*7@ 50 4* @70*M4)
Allgllj:i"lﬂ;ﬁ 120Nm N LS 600N AT 20000h Inertia gm I:F §Zﬁ$§ T IEI\ Mo Mot ) (
owable torque Maximum axial load Average life - ”
= — & M ITEREM
AIRE 6 Hh 3 200rpm HER DBATERaE g <65dB N
Rated speed Dorsal gap e HRGS85A-25K HA060(5:&EL)
-
A2 - HRG280-10 HRG85A-35K HRG85-05 (5i%Lk) HA060(73Lk)
£:HRG280- ‘ ®
HRG85A-50K HA060(103& L)

SRR R RIIRAE 44 P> WWW.WXHYT.CN




PR ITE— PR R ITE—

o === HRGT10A q:
=
78 . w
2-8 SHA? Thru e a2 7|0
O 54 (FE) Eg
' \ N\ 45 45 149
“z N
74 : N\ - :F
VAN
=

P 5\ e '
S Rl 8 W I
\ N\ ) 1
/ o)
1IN % |8 .
S N
\\- _/’ ! [=]
T i I- ] “ﬁ \9 —_—
\ <
N Z
o ] | .
yar) . eé— — N \&M4ELR9 P.CD 980 6-M5%0.8, IZEE10
2- @5H7 K2 X 10 EQS -M2.5X 4. !
PCD @625 14 SIS, 9443 05 (h7) ,—.135 RLD 970 285¢*(H7) / | 10012 4063
. Ol 265492 (H7) , w6

4-26.5Thru, EQS

129.5
32.7 @ ¢9540).035 (h7)
11 10.7 710.008| A
|11 107 | #590%4H7)
VAEC P 30
0.5 e 2 o e
~H !
= ] IR 5 |
B T O Y B o
b 9° T
n ®
L- m

H
|
4 x o
45 = o
322 |

| [
0 4P i
#50G733¢
ﬁ 'ﬁ'é % §5{ Performance parameter
WHTA% ﬁ ﬁ'é % ﬁi Performance parameter
0 > e - =z
Bt EL&J% 3R THE i 42Nm paszeiiiikik=1 500N W {E_ <63dB
Support Crossed Roller Bearing EmergencyStop Torgiie Allowable Axial Load Level of Noise — :
i °© (fTRE e : - 5 = T 5 XA TR AV o P o
@d]ﬂ’ﬁ 360 (EE% EE@%) /ﬁﬁ:*@ H:"%JE 200rpm gﬁ:{érﬂ ﬁﬁ - q}%ﬁiﬁ = “tgl:l;: ;ttform Crossed Roller Bearing Permlw:le %mput pm Mounting Position Arbitrary
Shift Motion 360° (Rotation at any Angle) | Permissible OutputSpeed Allowable Radial Load Mounting Position Arbitrary pee
. Py e ; s e e BT 360" (FERAETER) SERIHEBE <30arcsec iR A e
Reﬁtion%{k;t'o 70 100 ol ﬁ;E Eéf%&‘écy < 30arcsec 5 :I:ﬁ{l/'; a?igTE 0.02mm , bﬂ}]?u% SD {J_f‘z‘ﬂfﬂa Shift Motion 360°  (Rotation atfny Angle) Positioning Accuracy Lubrication Synthetic Grease
i ositioning Accura arallelism of Output Platform ubrication ynthetic Grease
NG HALOR ) 400WAAIFIR HEAL ServoMotor| Eﬁ%ﬁﬁg + 5arcsec 18 %ﬁiﬂg . .
A SR ST YD ’ i = Operati -10C~90C
At L 14Nm EEERME | tsacsec | hpi B | ooimm | CEFISRSRRME o Mg (019-070-090-M6) . Opeming
Rated Output Torque Positioning Accuracy Platform Surface Operating Temperature
pa
B NHASE S ANABEE Wl 50 BRI S8 A A 20000h
) ) 25.2Nm LA SNEBES) 0.0lmm GG £ P65 TR 20000h Reduction Ratio Allowable Axial Load 600N Service Life
MaxAcceleration Torque ey Level of Production Service Life
.y , 35Nm BRI i Ek _ By 414 2R P65
R %ﬁj‘rﬁi 1203 X 10 *kg.m’ q:l ] ﬁﬁiﬁ 2 (lﬁffgﬁiﬁigz) (@2 11-250- 870-M4) gﬁﬁﬁﬂ% Allowable Radial Load LeveloEDroduction
The1 0 p ; TG =
— = e Bk 4 BEFATE W
& M TEREN Max AccelerationTorque - Peilelimct Qutgit 0.02mm e <63dB
Platform
HRG85A-50K HA060(S3E L) s T BT oor
] 3 ergency Stop Torque - Runout of Outpu W .
HRGS5A-70K HRGS85-10 (1012“5) HA060(73%EL) Banergeney Siop Torg Patgorm Sarfise RS :HRG110A-50
; TAf SMEBES @
HRG85A-100K HA060(10;EEE) iR 27619x10 ° kg.nr? Ranoutof Output 0.008mm
Rotational Inertia Platform Excircle

SRMIEFFRRBEMIRE 44 »> WWW.WXHYT.CN




PR ITE—

=== HRG130A == HRG130-18K (EiELHEH)

1598

op - & & HE B

130 55
55 L 45
45 7~
18.8 N4 €} Y 2
o
18 AV’ 4 e
e -~ Ry $ A MURE 08T 9 gl )
% q = ® ®
g 7 N\\\E i i
/ I \ .
il i/ \\; S I N
& -+ \8 & i
\\ | f 47 — o 5 < S
R ,/ $ ‘2-M2.§(4 |
@ NG = 2-M2. 5L 2-M2.54 oD i @
oo, L ‘ 4-89 THRU e .
ELEal . o 205 20 w 2-25 3O 2(H7)THRY ' e ladl 45
-5 0N | +001
: RIES P.CD $104+0,03 |_2-055°47 EQS
s, 6-M$8 EQS
’ lﬂsﬁﬁm‘-ﬂ 8114%03
2114 %y $92
o u)
e @ a | {2062 ™
HRG130(6/ 10 1) ! 1)
et : [T I
nf
| | I ER
[ LJ.' 3 HAO060
o (sinoigt) N\
il i
% U O )
Alimmaamni|
| [o] " B 0012 Q o
| Lesescem ’
'I'i ag % ?& Performance parameter
. SZ L . o ,%‘ Ry e N 15 =2
@;E’f‘?m 1‘,?3%% AN EFHh& . = %iﬂ% 54Nm gﬁﬁlrﬁlﬁﬁ 200N ilf'fﬁise <63dB 'I’i EE % g& Performance parameter
Support Crossed Roller Bearing METEENCY.SIOp, Sorque Allowable Axial Load
BT 360" (FERMENER) | AV 200rpm | AVUFRI 513 = 2Ty = N p— . i N
Shift Motion 360" (Rotation at any Angle) | Permissible OutputSpeed i Allowable Radial Load Mounting Position Arbitrary ﬁgﬂ? :ﬁ ﬁ rfi% % 1?’5?59] & Pﬁl-:i fu; EH:E‘)E 200rpm ATy 7 1$ =
. u gll:pp 0?1 orm Crossed Roller Bearing o S du B Mounting Position Arbitrary
i FEALNG B <30arcsec | LAEBETATE| 0.02mm T I T A -
- 2 2 S\ oF s
Reﬁ%tkhaﬁo 30 50 70 190 Positioning Accuracy Parallelism of Output Platform Lubrication Synthetic Grease @ ij] ﬁ—‘ﬁ 360 o ( 'EE% % E%%) %{_\jﬁ Jg < 30arcsec ﬂﬁ?ﬁ é ﬁjﬁﬂﬁ ¥§’ BE‘
3 = Shift Motion 360°  (Rotation at any Angle) Positioning Accuracy Lubrication Synthetic Grease
= oy T R IR ‘
UE R TSR 34Nm i%ﬁ&ﬁg 10arcsec Ranout of Output 0.01mm Oﬁig Tji erijm -10C~90C ICREEALR ) | 400w Bl ServoMotor, BEEEMAEE + Sarcsec @)? %fﬁiﬂg 10C ~50C
Rated Output Torque Positioning Accuracy P! MMa!ch(in_g ) (@14-050-B70-M4) ot Repetitive Px I};epreat:;i .
7Jl] jﬁﬁi B i 4 A otor (Size ositioning Accuracy
Ak _ o 61.2Nm Iﬁﬁ(&@ﬂhm 0.01mm REAE 1P65 % 20000h ] o A
Max:feceleration Torque Platform Excircle Level of Production Servicellife L 1: 18 VR 18 - e 20000k
Reduction Ratio : Allowable Axial Load Service Life
i 59755 10 Fler VLR EHLOR ) 400W il ELHL Servo Motor
B otetionl Tt g-m I:Fl 2 ﬁﬁ E g . (Matching Motor Sze) (2 11-50-@ 70-M4) ———— S YRR . IR/ IP65
— w *n' = ?‘.T’E)ﬁﬁﬁ*ﬂ. Rated Output Torque AllgwableRagil 1634 Level of Production
P S
s 3 B AHA 4 TAERTHEPATE W <63dB
HRG130A-30K HRG130-06 (6i%Lt) HA060(53Lb) kit 45Nm Pt 0.02mm izl 634
orque form
HRG130A-50K HA060(53EEL) BfEHE 75Nm LIERIHE ) 0.0lmm
s§ Emergency Stop Runout of Output . |J =1 .
-10 (1 . o mony: A2 -HRG130-18
HRG130A-70K HRG130 0( 01_|:|$) HA060(73EEL) TSRS
N R 2772x10 " *kg.nf Runout of Output 0.01mm
HRG130A-100K HA060(103%Lt) Rotational Inertia Platform Excircle

SRR R RIIRAE 44 »» WWW.WXHYT.CN




REhERFEEITE— I

 HRG170A e HRG200A

60

2-26 5% X8EQS
_ 20
20|

? 7.5
.

100

43

sz

op - & & HE B

() 2-M2.5 ¥4
/m \ . g ol MBS, R
o (= =3
ﬁ o I = m——mpeee—n P e ot e -S .; (=)
P <
! s g B &
45.4MAX
67
— g 8
—1@ n N\ 2o s s

2-M2 55R50IR4

s e

= b 2-06 0257, / / 4-@11387L, [ EBH
P.CD 89 P.CD® 1550.05 7

90
2 70

19,
}.

|

|

1]
L

[ 6-MABA 10
Oso 4-M5X11EQS 55 §28
175.90
170 50
7 HRGI170-10 (107#Lk) FEFLE 100 2|
= 6-M6 X 10 I
120402 ! r //_Ayaumu HRG200-10 (103 H) | I I | II I | ?«'él B
2
s i 2
- \ 7
f Oab \{
1] HA090 (3/5/7/103&H, ) z
. \ )T i HA090(3/5/7/107 ) 3 )
1R :
o= N Z [ I R | I
~.. o L ' )
& ~ El 19 39
m 208 1 X8 70 D7(21%) a
'I'i ﬁg % ﬁ& Performance parameter
@aﬁpﬂfﬁagﬁ R IR Fhl& L 336Nm pags kit 500N u;'k%ﬁ <63dB
ﬁ ﬁg % ;& Performance parameter Support Crossed Roller Bearing ey on T o e o
B 360° (FERMAMEIER) | AV | s00rpm | APFRIHAE - LT e
T G b e BT MR " T R Shift Motion 360" (Rotation atany Angle) | Permissible OutputSpeed Allowable Radial Load Mounting Position Arbitrary
I} =) Z 3 ¥ g A
OU‘E:;;’iarltform Crossed Roller Bearing Tranjjs);;vﬁcjcguracy BATCIin Positioning Accuracy Repetitive e W 1: 30/1: 50 1: 70 [1: 100 . ;"‘Eﬁj}.‘é ica 30aRCEE T ﬁ; éﬁ AT Gi9mm ﬂﬂ ?‘é’v & R E R
e ) ~ Reduction Ratio Positioning Accuracy Parallelism of Output Platform Lubrication Synthetic Grease
Wk L 30 | 50 | 70 | 100 Rk v & VI — THEHE - 4 46 i AN k3l 0.01mm A
Reduction Ratio Flatness of rotating platform Rotating platform output, circular runout ’ BUER L 112Nm EER,SE{TL#% Ji:a + 5arcsec Iﬁﬁ(ﬁgﬂﬁ 5 0.0lmm O@ﬂa PRI 10C~90C
: Rated Output Torque Pmmoriﬂz”xgmcy Platform Surface perating Temperature
AYFHE 55Nm T K 7 1R FHE 20000h ;
Aot Torg ] 3000N i ioaid AR e TIEEMEBS | | BPSR | s A .
A = M Acceleration. Torque Ty Level of Production Servicalifs
BER i 200rpm HR g <65dB -
Rated speed Dorsal gap LoameEs Vo Rt 27619 X 10°kg.m’ ILCHALOR ) (219 745.4* 7870 5.5*@ 90*M5)
Rotational Inertia &1 q:l §ﬁﬁ§§ L (Matching Motor Sze)
e i n ‘4= =l
— & M REREETS 1TERGEM — & #l T2 REH
HRG170A-30K HA090(35%Lk) HRG200A-30K HA090(3i#EL)
HRG170A-50K > HA090(53 HRG200A-50K > HA090(S3#LE)
HRG170-10(103&LL) (53%EL) HRG200A-10 (103%Lk) :
HRG170A-70K HA090(7iEL) HRG200A-70K HA090(73EEL)
HRG170A-100K HA090(105%LkL) HRG200A-100K HA090(105%LkL)

SRIERRZARLIRE 44 »» WWW.WXHYT.CN




REhEEaEA— 1

m== HRG280A === HRG60Z
2-29X10

P.C.D.335
———

\\o\?

140 140 4-R30

'3

©,
op - & & HE B

G 9
 a \>
g b ; 4-21.5 Thru
/ / g ' 2-8BX5EQS
g o (& ! oY 60 P.C.Do45
i AN 5 6-M3Xx6 EQS F
\ N TN P.C.D245 Y 12
4 |
g g\ — 20-M6X 18 EQS i B
\\ > | P.C.D. @158 A ! \ 2
%%} ) S - 217.5 THRU -
$ @ QQ SPEEAS 2296 9
i & 4- 17.5 THRU EQS ’ i
5. P.CD. 338 r 3
: I’ | ‘I @ 150 30.04 ° ! ° 4-R16 -
| é =
-]
1 > °
| | = ! 14 2-M2.5X4.5
244 ! !
37 31 - 7 20.3 i |
|| 4-M8 X 16 EQS i ) P.CD @ 145%0.1 89
32
| -\_ 11 11
3
2|l 0 14 ) M2.5x4
s i y — I‘T’l :
\%E¢ /. 05 fetet b= ] o A
2 £ 35| 3 yd
= 3 5 """%1’ z Tif i
21? 74 ?‘1 | L __ | s !
= 6.8 | % | | é |
2 I B | i -
n L2 r & 1 = 1
& | P.C.D 45
g z 3X4-M8gX10 | ies | ] i 1 /° © ©
Al ’_I' 1218 |
L LI o260 i . ~ _L 4 l
s | ziz7o | 2 4 '
130 i
« 5 A49©@ ™ 4-M3ix6
—e n ~
ﬁ EE % §5{ Performance parameter @0 _| ~ -

ﬁ ﬁg % ﬁ& Performance parameter

y SZ L5 e 23,
E%E’?pﬂflﬁ‘a%% R T AR i 2000Nm | A VFHRIA SE 8000N Dﬁ%ﬁ_ <63dB
Support Crossed Roller Bearing Emergenay Stop Torque Allowable Axial Load Level of Noise " pe
— - is s Y S 73 f MR E
B 360° (FERLMIEIER) | AR mesm S L - 224758 R Output Pliform SELIR TR oSty Toe | 19N | ARG s o <63dB
Shift Motion 360° (( Rotation at any Angl)e) PermissibleJOutpmSpeed 200rpm ﬁombligaxj Load Miiﬁgi&;on Arbitrary Support Crossed Roller Bearing Emergency Stop Torq s Level of N
g - 301 soft: 7o fi: e - : o BETR 360° ({EEMBHER) | AciFd s 200 st y =
Reﬁt%li{haﬁo S el R Posiﬁﬁi{nlé fm}%y < 2arcsec Paﬂ%ifm@gtpiﬁgja;g 0,02mm Luljfj(ﬁn ;ji??jiﬂs Shift Motion 360" (Rotation ac);y Angle) | Permissible OutputSpeed rpm Allowabliladial Load 300N Miﬁgﬁm Arbitrary
) — 2 R ST et AR
B s 1000Nm BEEEMME | *15arcsec Iﬁﬁﬁﬁ%m 0.02mm (SRR3R 10C~90C R * ” rostnig ey | =200 PIH{]’fm‘f,'féﬁiﬁ% e Lbrcation Sny"theﬁc G
Rated Output Torque Peition b ey Platform Surface Operating Temperature L0~
Ly Wk = y
BT p— it BEEAME | + TAFBIEHRS | ) i FER R 1 o
o Ao T 1800Nm Iggﬁ;(fét@;{kw 0.02mm Ffp%? P65 e 20000h Eﬁfﬁ%ﬁ ohm road A el - ~ T | penting Tomperse -10C~90C
latform Excircle vel of Production
VERERATLORT) 22-110-145-M8 ﬁﬁtug*ﬂ% 9 Nm Iﬁiﬁf{l\()p%'gjj 0.0lmm GRS P65 ﬁm%ﬁ 20000h
I:FI § ﬁﬁﬁ T L (Matching Motor Size) Maxiieceleration Torque Platform Excircle Level of Production Service Life
— &M = TEREN HRPR 735X 10 kg DRI ) (282 30 - @45-M3)
Rotational Inertia ; q:?ﬁﬁig‘ N | Match S20)
HRG280A-30K HA115(33%Lt) — & 4l = B fRE
HRG280A-50K HA115(55%Lk) . HAS042(25% L)
HRG280A-70K HRG280A-10 (10i$l:|$) HA115(7iLL) rRoete HRGGO_OS(SEHS) (
= HRG60Z-15K HAS042(3:%Lk) ‘
HRG280A-100K HA115(10:Lk)

SRR R RIIRAE 44 »» WWW.WXHYT.CN




REhEEaEA— 1

= HRG85Z-05 m== HRG85Z-10

S'a
109.7 E'E
32.7
N 10,7 6-MAX 8.5 EQS 83 BE
3 78 B 14
— o 2-M25X4 Eg
0.5 = ]
s | ¢ 2. g5 ppto-0rzThru I
64 [ ] ? cz : ° l"/ LY I
® 2 o
- 8 | = i :F
4 o | g g | r |
o (=)}
bS] = A
=

29
-—to-

46
Eg
o
I

160.5

L4 — g A

Rotating Part

101.5

12-M5X 8

60

BINAE)

288. 15 D7 (13:4%) 4-M4X9 EQS

P.C D @/0

78
Y
o e M54 -
| 4-26.5 Thru { 205 HOO2 Thry 1187 | 85
T 2.7
! jb/ H 11, 10.7
el
I | 2 - = 2-8 5 H/' 2 X6. 5EQS
l | . o5 = P.DC262.5
* 8 64 | 2
' S = — 9 52
L - -l T §ls ¥
/e g = = - - -
° QL N Ef g
O, - - T E
< | | L
b = —0~ °
e i 12-M X8~
O < N -
® Ay TR AL : 2-M. 5X4
® ® | - Rotating Part i
i 4-M4X9 EQS En |
|
47.14 = | ' |
I
'I'i ﬁg % ?& Performance parameter ﬁ ﬁg % g& Performance parameter
1 L o =8 >, I 1 L "% >, I~
Sy LR THE RHIE sNm | AEMIESE | spon W <63d8 e LB Al senm | BERIASE | soon Y i <63d8
Support Crossed Roller Bearing Emergency Stop Torque ‘Allowable Axial Load Level of Noise Support Crossed Roller Bearing Emergency Stop Torque ‘Allswible/Axial Toad Level of Noise
BEfTiE 360" (FEEMBENER) | AUHHEHE 200rpm | AR R / E S Wi [E9=3 BT 360" (FERMBENERY) | AVFHELHE 200rpm | AVFIRIA 513 // 2 [E9=3
Shift Motion 360" (Rotation atany Angle) | Permissible OutputSpeed Allowable Radial Load -~ Mounting Position Arbitrary Shift Motion 360" (Rotation at any Angle) | Permissible OutputSpeed Allowable Radial Load ~ Mounting Position Arbitrary
. Pty L s g = . ey L s »
TR 10 15 EﬁU]%E < 30arcsec IME BETPTE| 0.02mm ﬂﬂ?% GLSEEE el i 20 30 ﬁﬁu}%ﬁ{ <30arcsec | LAF BEFTE | 0.02mm ﬂﬂ?ﬁ FIE
Reduction Ratio Positioning Accuracy Parallelism of Output Platform Lubrication Synthetic Grease Reduction Ratio Positioning Accuracy Parallelism of Output Platform Lubrication Synthetic Grease
P A S k3 r—3 Py AN S k5
A e 18Nm HEEMMEE | +sarcsec Iﬁiﬁﬁ%m Oi0lmm: (EFASRSER -10C~90TC AEH AR 18Nm BSELMHE | +5arcsec Iﬁiﬁﬁ%{m 0.0lmm (AT ISIR B 10C~90C
Rated Output Torque Fositonby A suracy Platform Surface Operating Temperature Rated Output Torque B e aray Platform Surface Operating Temperature -
B - ‘ N
o . k 32.4Nm Iﬁﬁi’ﬁlﬂm 0.0lmm R P65 BER% 20000h %j{f]ﬂﬁfﬂ%ﬁ 32.4Nm Iﬁﬁﬁ)ﬂ%hﬁ 0.0lmm B P65 A 20000h
Max Aceeleration: Tatque Platforss Sxcircle Level of Production Service Life MRSt aTge: Platform Excircle Level of Production Service Life
L=l -6 2 UEREEEHLOR ) _ - @70-M4 R R 6 2 DEACEALOT) _
Rotational Inertia 1203X10 “kg.m’ ¢ §ﬁﬁ§§ T L (MatchingMotorSize) (@214-2 50 ) Rl e 1203 X 10 "kg.m’ ¢ Eﬁﬁig YN (MatchingMotorSze) (214-2 50 - 870-M4)
=] s =] s
— &M EfREN — &N EfREN
HRG85Z-10K s HAS060(2:Eb) HRG85Z-20K . HAS060(2:E b
HRG85Z-05 (5iLL) HRGS5Z-05 (105%Lk) Sl
HRG85Z-15K HAS060(33%Lk) HRG85Z-30K HAS060(35%Lt) @

SRR R RIIRAE 44 »» WWW.WXHYT.CN




REhEEaEA— 1

=== HRG130Z
e HRG130Z I:l:l
==
m. 0 -
120 = | 14 | 2-M25X5 ~ BE
4@ Thru d 10 oS T } ; /'./ 225 H7% 912 Thru f _!|, : E#
n N | T
(] — VAN
=

110

45

160

4-M4X9
pP. C.D @270

060
®

4- M4X9
o P.CD &0

| I A2 112
39.5
— i 10.5
39.5 130 ==
14.5 15 | | ]
3
| | 6-M5x8 s, [Q (@) T | T
os | H P.CD @104 |O . =
- . 2_95«30.014)(7 EQS ) i;" oi 0|
2.z P.CD @104 -—-1—% £| < o
~ N N ~l| =
g =T - w = 8| ® A =
o Q\
¢ 34 | | o ! T T G J_ 9 2
— o - 2 4 5 s :L 1 :[r =
— 3 4.3
b o 9 & /=/ P® ' ) 2-M25X4. 5
o /0/ -3 - N\ 12-M5X 8 ] |
12-M X8 \h‘l 2-M25X4.5 i i - :
. HeE L m- ANk |
& Rotating Part ol |
ad sl [ |
|| aq <l [ | pos 1
250 _—
jE &
ﬁ lﬁlé % g& Performance parameter ﬁ EE = ?& Performance parameter
P& 2 e s W
S oy . 2 . E e IS ZXVFRH A fa =] <
@Eﬁput L 3 YR Tl m%j‘?f?ﬁ | ioaNm | AERRAIA S0 500N L"%l E'fNﬁ <63dB e al Cmsf:d Rﬁiﬁi{ i | 02D | LU Eﬁ if 500N o 63dB
Support Crossed Roller Bearing rgency Stop Torq Allowable Axial Load evel of Noise
o : : : : = - B 360" (IERMABIEHER) | eiFifh ok BVERI I : - fioet
4 == e P . -2 200 SR e LIS LRETT
gzjjﬁﬁ 360 (Eaﬁ BLE) ﬁﬁ;ﬁ i 200rpm HEE rﬁ]_ L = o ﬁﬁﬁiﬁ E 2 Shift Motion 360" (Rotation atany Angle) | Permissible OutputSpeed T Allowable Radial Load / Mounting P;j[ion Arbitrary
Shift Motion 360" (Rotation atany Angle) Permissible OutputSpeed Allowable Radial Load Mounting Position Arbitrary
. gy o oS PAgER = 3 E{ful%ﬁ < TAHEESTHEAT ﬂﬂ?ﬁ' éﬁk@ﬁﬂﬁ’
?Jﬁﬁ Lt . 20 30 /TEﬁU]% i3 < 30arcsec I{’E‘E‘EEFH‘E 0.02mm ﬂﬂ?ﬁ' e I R Reﬁ%li{k;ﬁo 20 20 Positioning Accuracy % 30aresec Pua]lifm%f@ti&l& 0.02mm Lubrication Synthetic Grease
Reduction Ratio Positioning Accuracy Parallelism of Output Platform Lubrication Synthetic Grease
N = o o) TAE & 3 Bk (5 BRI I
N N s . . .
HEH L4 3Nm EEE&%E + Sarcsec I’KEDEL@EP%EZ% 0.0lmm @Fﬁ%iﬁﬂfg 10C ~90C Riﬂfgﬁi HH A 32Nm EERZE‘%*EE + 5arcsec ];tl::?ou:n?fsg‘gg:( 0.01lmm Ot = 10C~90TC
 Repetitive Operatin, 8 ~ ed Output Torque Positioning Accuracy perating Temperature
Rated Output Torque Booat e N iy Platform Surface perating Temperature e
B T SN Y Bisn A 612Nm TAECIABI | o01mm L i P65 (i 20000n
Max Accelrstion Torgue BN oworOupur | 0.01mm | PO S 2R000K Max Acceleaton Torque ey ' —— ServiceLie
.y R 6 2 VERLAAILORT) _
- %ﬂﬁi 2772X 10 Skg.m’ . EEE.EE*J}(R?;), (@14-@ 50 - B70-M4) Rotational Inertia 2772X10 "kg.m l:F '"'735!5? YN (Matching MotorSze) (214-2 50 - 270-M4)
e FES " — & = = B EEN
— &N EfREN
% HRG130Z-20K s HAS060(2:%Lt)
HRG130Z-20K HRG130Z-10 (103ELL) HAS060(2i® ) HRG130Z-10 (103&LL)
‘ _ HAS060(3LL) oy
HRG130Z-30K HAS060(3iELE) HRG130Z-30K

SRMIEFFRRBEMIRE €4

> WWW.WXHYT.CN




REEEEEEA—0

== HRG170Z === HRG200Z
"
4-211 Thru & i ol 14 2-M2.5X4

2-26 H7o X8

ob 44 4 5 Hl B

1
/l,./ 14
| 4- @11, Thru
I i ] N 2- @6H75 " Thru 7
un
= = | * | ]
n LN
o o |
o
8 = = . | Py |
o ® \Q\ -
® ot
o~
o
© )
U ®
I° i °I = A 4-M5X12 EQS -
& [ P.CD &0 *
i 10 Ol O
! 5 4-M5X 12 EQS
| | H | l T i T 1 P.C.D @0
|
168
60
15 20 6-M6 X10 EQS 170 = 2-o8 %M xg
3.5 P.CD 2120 o s 2l P.CD @155
16 =
- 5 6-M6X 10 EQS
0:5 —] 2-08 H7% "X 8 BQS P.CD @55
< | P.CD 2120 -
Salss 0.5
6| e 2 —1 | |
A 22 5 < 8 L
b 53 §| & i — ¢ 5| -3 -
S8 2 S
! J ﬂ — ¢ 93.5 % 8 ) <
| 5 § 53 —-— Sl N
3 I A - g 3
- o —
" e | e . IRRIE!
a2 = 18 5 | e N -
- Rotating Part — 3 N —e] -
| I : = s 8.5 T 4—_12-M6Xx10 14
1 ~
l i ! ", et AL
219 ) - T < Rotating Part |
@70 w 219 o | ] |
= ) B!
'I’i ﬁ% % ;& Performance parameter 'I'i ag % %& Performance parameter
NI PN o 2 . =r T PN . g LS =
%ﬁﬁfﬂ%ﬁ 38 PR TR L 165Nm | A VFhlE 3000N “%Ef@_ <63dB %E’ﬁﬁ%ﬁ 3 X TR el 336Nm | 2V a3 3000N WEE <63dB
Support Crossed Roller Bearing Emergency Stop Torque “Allowable Axial Load Level of Noise Support Grossed Roller Beiing Emergency Stop Torque ‘Allowable Axial Load Level of Noise
BT 360° (FERRAENERE) | 2ttt 200mpm | BRI S e e 3= BT 360° (FERAEER) | AV it 200mpm | VR = S E R
Shift Motion 360°  (Rotation at any Angle) | Permissible OutputSpeed Allowable Radial Load Mounting Position Arbitrary Shift Motion 360° (Rotation atany Angle) | Permissible OutputSpeed Allowable Radial Load Mounting Position Arbitrary
s . < R EEREE s //4 . P——
WAL 20 30 50 JERLAREL <30arcsec | TAERMEFATE | 0.02mm b kil WL 20 30 50 JELLSE <30arcsec | TAEREFATE | 0.02mm i & U AR
Reduction Ratio Positioning Accuracy Parallelism of Output Platform Lubrication Synthetic Grease Reduction Ratio Positioning Accuracy Parallelism of Output Platform Lubrication Synthetic Grease
" 2oy k7 N ey £y f 5
BUE LA 55Nm HEEEMRE + 5arcsec Iﬁnitﬁgﬂﬁm 0.0Imm GEAPRSER B I S6A AES A 112Nm B EMNERE + 5arcsec Iﬁfﬁ‘ﬁcﬁf{gm 0.0Imm IR BRI 10C ~90
Repetitive Ovorat 10C~90C mAetl . 10C~90C
Rated Output Torque Positioning Accuracy Platform Surface perating Temperature Rated Output Torque Positioniag Acoiicy Platform Surface Operating Temperature
BB TAEE SRS B R A Bk e TAEA SRS B R
& B =) JHFF A
Max Acceleration Torque 1o N Benouofuipet 00 Imm Level of Production 1Ee5 Service Life 20000k Max Acceleration Torque 201.6 Nm Runout of Output 0.01mm i Firouchion P65 Service Life 20000H
R . 5 PCREEALOR ) 100W il ik BEAJL Servo Motor R . s PERREAL R 100W it #AJL Servo Motor
Rotation T Tuceiia 27619 X 10"kg.m’ I:F §E&$§ YN (MatchingMotorSize) (219-@ 70- 890-M5) Bl Tastth 27619 X 10°kg.m' l:F §7}E$§ T L (MatchingMotorie) (219-2 70- 290-M5)
= - = N
— &M ERREN — &M ERREN
HRG170Z-20K HAS090(2i%EL) HRG200Z-20K HAS090(2i%EL)
» »
HRG170Z-30K HRG170-10 (103%LL) HAS090 (3i& ) HRG200Z-30K HRG200-10 (103ELt) HAS090(35%Lk)
HRG170Z-50K HASO090(53EL) HRG200Z-50K HAS090(53EL)

SRMIEFRRBRMIRAE 44 »» WWW.WXHYT.CN




REhEEaEA— 1

=== HRG280Z
4-MB8 X 16 EQS P.CD 145101
2-29X10
P.C.D.335

P e T A MR

s
5. & $§
3 I VA
VAN
g =
i o185
2218
21260
2270
I
244
37 _, 31 7| 505 4-R30
21? 74 ?ﬁ ; | |
1+ Ml 1 - es Y4
] ST/
L 2 = \CD.
a g 14-R16
S| 3X4-M8X 10 i (S
- ; o¢
5 1=
1232 o
2 110 =
L I
ﬁ EE % §5I Performance parameter
1 S £ e S,
ﬁﬁﬁﬁgﬁ VR T A& IR 2000Nm | Yk fE 500N R <63dB
Support Crossed Roller Bearing EmergencyStop Lorque Allowable Axial Load Levelof Note
Bt 360" (IERAEIEE) | BURHEE | so0pm | AFRRIR SRR e
Shift Motion 360" (Rotation at any Angle) | Permissible OutputSpeed Allowable Radial Load Mounting Position Arbitrary
TR L 20 30 50 %{YU}%E <30arcsec | LAEBHEFATE | 0.01mm ﬂﬂﬁ AR R
Reduction Ratio Positioning Accuracy Parallelism of Output Platform| Lubrication Synthetic Grease
N & %z
R i 5 1000Nm BEEGHE | *isacec [Cmbm® | ooimm | EMFIHRE 10T 50C
Rated Output Torque oo Ay Platform Surface Operating Temperature B
BRI TAERSNRB S [GE AL ik
Max Acceleration Torque 1800 Nm | Runontof Quiput 0.0lmm . 16 Service Life 20000k
R - DREHALORT) :
anﬁnnnlfner\ia ¢ § ﬁﬁiﬁ T LS (MatchingMotorSize) 1KW-1.5KW il It 34/l Servo Motor "
n AY By : g =
— & B fRE i % E = = e 4
HRG280Z-20K HAS120(2i&Ek) Bt E =%
- -,
HRG280Z-30K HRG280Z-10 (103%LL) HAS120(3i#Lk)
HRG280Z-50K HAS120(53%EL)

SRMIEFRRZBEMIRE 44

> WWW.WXHYT.CN



